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Zásady	
  pro	
  tvorbu	
  šifer	
  

•  Anglická	
  abeceda	
  
•  Jednoznačný	
  výsledek	
  
•  Smysluplný	
  výsledek	
  
•  Nešifrovat	
  šifru	
  
•  Bez	
  chyb	
  



Šifrovací	
  soutěže	
  

•  Tmou	
  –	
  Brno	
  
•  Bedna	
  –	
  Praha	
  
•  Budějovické	
  želvování	
  
•  Jarní	
  a	
  podzimní	
  celostátní	
  setkání	
  Mensy	
  ČR	
  
•  Technoplaneta	
  
kalendar.chlynym.cz	
  
sifrovacky.cz	
  



Korespondenční	
  soutěže	
  

•  Technoplaneta	
  
•  Cvičte	
  si	
  mozek	
  s	
  Mensou	
  –	
  MF	
  Dnes	
  (MF	
  pozítří)	
  
•  Šifrová	
  liga	
  
•  Dětská	
  šifrová	
  liga	
  
•  Deskohrátky	
  



www.mensa.cz	
  

Děkuji za pozornost! 



Která	
  z	
  nabízených	
  možnosr	
  patří	
  na	
  volné	
  
pole?	
  	
  
	
  

  A    B   C      D     E 



	
  
1,	
  3,	
  7,	
  15,	
  ?	
  



Všechny	
  černé	
  kuličky	
  váží	
  stejně.	
  Do	
  které	
  
přihrádky	
  je	
  třeba	
  umísut	
  třer	
  černou	
  kuličku,	
  
aby	
  byla	
  houpačka	
  v	
  rovnováze?	
  	
  

A) 1    
B) 2    
C) 4   
D) 5   
E) 6 
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•  Máme	
  dvě	
  lana,	
  každé	
  hoří	
  právě	
  hodinu,	
  avšak	
  
nerovnoměrnou	
  rychlosr.	
  Dokážete	
  s	
  jejich	
  pomocí	
  
naměřit	
  čas	
  45	
  minut?	
  


